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QUESTION 1

Can the user status forbid business transactions that the system status allows? Please choose the correct
answer.

Response:

A. No, user status can only create a warning.

B. Yes, by creating an appropriate status profile.

C. Yes, if the status number of the user status is defined with higher priority.

D. No, system status has a higher priority than user status.

Correct Answer: B

QUESTION 2

Assume you have information on sources of supply, quantities, and prices and you have decided to use unit costing to
produce a cost plan per WBS element. Which of the following costs can be planned? There are 3 correct answers to this
guestion.

A. Each material

B. Cost element level

C. Internal service

D. Each internal activity

Correct Answer: ABD

QUESTION 3

What do you call a closed sequence of relationships and activities where you start from an activity and end
up back at the same activity, by way of relationships? Please choose the correct answer.

Response:

A. Cycle

B. Cycle analysis

C. Graphics

D. Web structures

Correct Answer: A
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QUESTION 4

Which of the following determines the account assignment category in sales order item? There are 2 correct answers to
this question.

A. Requirement category
B. Requirement function
C. Requirements class
D. Requirements type

Correct Answer: CD

QUESTION 5

Which of the following prerequisites need to be met in order to analyze the capacity requirements of an
activity?

There are 3 correct answers to this question.

A. A distribution key must be maintained in the work center

B. Scheduling must have been carried

C. The capacity requirements indicator must not be set in the network header

D. A work center must be maintained in the activity

Correct Answer: ABD
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